
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16 𝟑 𝐥𝐨𝐠𝟓 𝒙 − 𝟒 𝐥𝐨𝐠𝟓 𝒚 + 𝟐 𝐥𝐨𝐠𝟓 𝒛

A
𝐥𝐨𝐠𝟓

𝒙𝟑𝒛𝟐

𝒚𝟒

B𝒙𝟑𝒛𝟐

𝒚𝟒

C
𝐥𝐨𝐠𝟓

𝒙𝟐𝒚𝟒

𝒛𝟐

D 𝐥𝐨𝐠𝟓 𝒙𝟑𝒚𝟒𝒛𝟐

17 𝐥𝐨𝐠𝟐(𝒙
𝟐 − 𝟒) = 𝐥𝐨𝐠𝟐 𝟑𝒙

A𝟒B𝟐C −𝟏D −𝟐

18 𝐥𝐨𝐠𝟏𝟎𝟎 𝟏𝟎

A𝟏B−𝟏C 𝟏

𝟐

D𝟐

19𝒇(𝒙) = 𝐥𝐨𝐠 𝒙𝟏 ≤ 𝒙 ≤ 𝟏𝟎

A𝟏 ≤ 𝒇(𝒙) ≤ 𝟏𝟎B𝟎 ≤ 𝒇(𝒙) ≤ 𝟏C 𝟎 ≤ 𝒇(𝒙) ≤ 𝟏𝟎D 𝟏𝟎 ≤ 𝒇(𝒙) ≤ 𝟏𝟎𝟎

20𝐥𝐨𝐠𝟒 𝒙 − 𝐥𝐨𝐠𝟒(𝒙 − 𝟏) =
𝟏

𝟐

A
−

𝟏

𝟐

B𝟏

𝟐

C −𝟐D 𝟐

21𝐥𝐨𝐠𝟒 𝒙 ≥ 𝟐 

A𝒙 ≥ 𝟐B𝒙 ≥ 𝟒C 𝒙 ≥ 𝟖D 𝒙 ≥ 𝟏𝟔

22𝒚𝒚 = 𝟒𝒙 − 𝟏

A 𝟒 B 𝟏C −𝟏 D 𝟎 

23 𝐥𝐨𝐠𝟐 𝟑 = 𝒃𝐥𝐨𝐠𝟐 𝟓 = 𝒂𝐥𝐨𝐠𝟐
𝟐𝟓

𝟗

A 𝒂𝟐

𝒃𝟐
 

B 𝟐𝒂

𝒃
 

C 𝒃

𝒂
 

D 𝟐(𝒂 − 𝒃) 

24 𝐥𝐨𝐠𝟒 𝟓 = 𝟏. 𝟏𝟔𝐥𝐨𝐠𝟒 𝟏𝟎𝟎

A𝟑. 𝟑𝟐B𝟒C 𝟐𝟓D 𝟐. 𝟑𝟐

25 𝐥𝐨𝐠𝟐
𝟏

𝟑𝟐

A−𝟓B−𝟏

𝟓

C 𝟏

𝟓

D 𝟓

26 (
𝟏

𝟓
)
𝒙

≤ 𝟏𝟐𝟓𝒙

A𝒙 ≤ 𝟓 B𝒙 ≤ −𝟑 C 𝒙 ≥ −𝟑D 𝒙 = 𝟑

27 𝐥𝐨𝐠𝟒(𝐥𝐨𝐠𝟐(𝐥𝐨𝐠𝟐(𝟐𝒙 + 𝟖))) =
𝟏

𝟐

A𝟏

𝟐

B𝟐C 𝟒D 𝟖 

28 𝐥𝐨𝐠𝟐 𝒙𝟒 = (𝐥𝐨𝐠𝟐 𝒙)𝟐𝒙

A𝟐B𝟒C 𝟏𝟔D 𝟐𝟒

29  𝐥𝐨𝐠𝟏𝟐𝟓 𝟓

A𝟑B𝟐C 𝟏

𝟐

D 𝟏

𝟑
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